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FROM RHETORIC TO DECONSTRUCTION

Lecture Five: Prose and Verse
Consider salient points of Lecture Four: 

Rhythm: regulates movement; provides coherence. Yeats and Eliot: it mediates between actuality and eternity. Yeats and Joyce emphasize the expressive function of rhythm. Antecedents in Plato’s The Republic—Socrates: “grace or the absence of grace is an effect of good or bad rhythm,” and “beauty of style and harmony and grace and good rhythm depend on simplicity, [. . .] the true simplicity of a rightly and nobly ordered mind and character.”
Woolf on creativity: echoing Yeats and anticipating Eliot, in A Room of One’s Own (1928). Suggestiveness—the suppression of the “I”—the criterion of creativity; a feminine quality, reflected in rhythm. Too much will (too much masculinity) is destructive of creativity—cf.:
The fact is that neither Mr Galsworthy nor Mr Kipling has a spark of the woman in him. Thus all their qualities seem to a woman, if one may generalize, crude and immature. They lack suggestive power. And when a book lacks suggestive power, however hard it hits the surface of the mind it cannot penetrate within.
But as human beings are androgynous, true creativity is independent of biological gender.
*

Verse has a special way of creating rhythm, which we call metre. While in prose the basic rhythmical unit is the sentence, in poetry it is the line. Line-endings may be marked by rhyme; a masculine rhyme is a single stressed syllable; a feminine rhyme is a stressed syllable followed by an unstressed one; the lines below exemplify both:

For I at most accept

Your love, regretting

That is all: I have kept

Only a fretting

(Edward Thomas, “No One So Much As You”)

These lines are run-on lines (enjambements) as the syntactic unit they embody is completed only in the next line. Lines in most poetry are end-stopped, that is, a syntactical unit is completed and there is a natural pause in the reading at the end of the line.

NB.: Establishing the full metrical pattern of a poem may require the analysis of units larger than the line, such as the stanza—a group of lines with specific line-lengths and rhymes (couplet, tercet or triplet, quatrain, sestet, rime royal, ottava rima, Spenserian stanza, etc.)—and, in non-stanzaic verse, the verse paragraph—a complete grammatical sentence running to several lines.

Creating rhythm and metre in English:

· by stress and beat; the most natural and the most common;

· by producing quantitative verse which manipulates the alternation of long and short syllables, as in Greek and Latin and in much Hungarian poetry (időmértékes verselés); difficult and unnatural in English;

· by producing syllabic verse which takes whatever rhythm it has from the natural rhythm inherent in the flow of syllables whose number per line is strictly controlled (szótagszámláló verselés); common in French poetry. 

English being a stress-timed language, quantitative and syllabic metres are difficult to produce and may sound awkward.

Stress

Some syllables are pronounced with greater intensity than others, that is, they take a stress (or accent). It would be more accurate to say that they take a greater stress than other syllables, as there is no syllable without some degree of emphasis, which may have a value of 1-4 on the Trager-Smith scale, as for instance in this line of Shakespeare’s: 

  3   4  1  4     1   2 1  4  1     4

Shall I compare thee to a summer’s day?

For purposes of discussing poetic rhythm, however, it is perfectly appropriate to consider only the strongest (with a value of 4), occasionally the second strongest, of the stresses and thus to assume that words are either stressed or unstressed. Please note that

· normally, a syllable is a unit of either one or more vowel sounds alone or of a syllabic consonant alone or of either of these with one or more consonant sounds preceding or following as, for instance, in syl-la-ble, read-a-ble;
· a diphthong, although it sounds like a combination of two vowels, is regarded as one vowel, as in ground.

Stress, in the examples that follow, is marked by the symbol / over the first vowel of the syllable:

  /       /      /         /

ground   hog   adore   approximate (adjective)

Stress is or is not an inherent quality of the word. Whether or not a word has it depends on the class to which it belongs. As a rule, content words (words with meanings of their own, such as nouns, verbs, adjectives and adverbs) are stressed. Also as a rule, function words (grammatical words such as prepositions, articles, conjunctions, pronouns, and adverbs used in conjunction with adjectives and adverbs) do not take a stress. Both classes of words may be subdivided into monosyllabic and polysyllabic groups. Monosyllabic content words (get, fun) may lose their stress in rapid speech; polysyllabic content words have one main stress and may have one or more secondary stresses, marked by \ (backslash):

  /    \   \   /          /   \           \    /

groundhog  adoration  approximate (verb)  approximation 

While monosyllabic function words are unstressed, polysyllabic ones take a stress and sometimes even a secondary stress (although in rapid speech it may be suppressed):

/          /     \  /                   /     (/     )

After   before   inside (preposition)   without   (out of)

For all its significance, stress is an unstable quality. Good dictionaries supply not only the meanings of words but also their pronunciation(s) and the position of their stress(es). In the context created by the sentence in which words function and in the speech situation in which the sentence is uttered, significant departures from the dictionary formula may occur. The reasons for the shift from the dictionary form in sixteen and seventeen are obvious in the following conversation:

“You are too young for the job,” the manager 

                            /

said”.“How old are you? Sixteen?” 

               /           /

“No, I am not sixteen but seventeen,” I angrily replied.
Beat

The basic element in metrically organized rhythm is the beat, “a burst of energy that is part of a repeating and structured pattern” (Attridge 9). The beat of a line is always a single syllable uttered with an extra expenditure of energy. The interval between beats—one or several syllables—constitutes an offbeat, which is also a beat but of a weaker kind, and is linked either to a preceding or a following full beat. Rhythm is basically an alternation of beats and offbeats. In the example below the symbol – over the vowels of certain syllables denotes the beats; the syllables unmarked are the offbeats:

 _          _       _      _

Had I the store in yonder mountain

       _        _          _       _

Where gold and silver are had for counting 

(quoted by Attridge 67)

There is a strong, though not indissoluble, connection between beat and stress, offbeat and absence of stress. If we mark the stressed and unstressed syllables in the above example, using the symbols / and x respectively, we shall get the following pattern: 

 /  x   x   /   x   /  x   /   x

Had I the store in yonder mountain

  x    /   x    /  x  x    /   x   /   x

Where gold and silver are had for counting 
The beat in these examples is always a stressed syllable, the offbeat one or two unstressed syllables (in poems composed of longer lines, the number of syllables in offbeat position may be three or even four). This, however, is not a universal law, and a stressed syllable may be found in offbeat position (this is called demotion by Attridge) as in the first line in the Lewis Carroll rhyme below. By the same token, if no fully stressed syllable is available in the beat position of the rhythmic pattern, an unstressed syllable may function as beat-marker (called promotion by Attridge), in which case it takes on a stress:
  x  /   x   /    /    \   x     / x  x    /
The Panther took pie-crust and gravy, and meat,

  x     x /    x    x  /   x  x     /   x    x   /

While the Owl had the dish as its share of the treat.






(from Lewis Carroll’s Alice in Wonderland)

 x   /     x  /   x  x x  /
To please you all I do intend,

 x  /  x   x   x    /    x     /
So listen to these lines I’ve penned.
(quoted by Attridge 75)

The first of two unstressed syllables at the beginning of a line (see the shaded area) is particulary likely to be “promoted” in this way:

 / x    / x    /  x     / 

Tiger! Tiger! Burning bright

x   x   / x     x   x  / 

In the forests of the night,
For purposes of establishing the metre of the poem, that is, for scanning—unless we have special reasons to indicate whether or not the syllable receives a stress in prose—we may use a simplified system of symbols, in which / marks the beat, x the offbeat:

 x   /     x   /  x  / x  /

To please you all I do intend,

 x  /  x   /   x    /    x     /

So listen to these lines I’ve penned.
The interval from one stressed syllable to the next, which may include one or several unstressed syllables in offbeat position, is called the measure. 

The phonological principle of isochronism (‘equal-timeness’), owing to which an utterance in language “on some level of analysis [. . .] can be split into segments which are of equal duration,” or at least are perceived by the ear as such (Leech 105), operates in English, too. This segment in English, a stress-timed language, is the measure (in French, a syllable-timed language, it is the syllable). In practical terms this means that there is roughly an equal lapse of time between two beats. From this it follows that the measures making up the line take approximately the same time when read aloud, irrespective of the number of syllables they contain. 
